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Answer either in English or in Assamese

1. Choose the correct answer of the following :

1x10=10
weTe faPTRs wm Seacn! Ak Sfre

(@ IfA={2 4)andB={2 3,45}, then find
i A=1{2,4} 9F B={(2 3,4,5 =, (@
Sfejed

i) A>B
(i) AUB
(i) Ac B
(iv) AnB
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(2)

(b)) Y =b2is a/an
Y = b? Trr @bl

(i) constant function

FA To (9T o)

(i) polynomial function 9
qzofit Fer
(iii) singular function
GFofat e
(iv) exponential function
5P Fol
{c) If lim L=0, then lim[n+1) i
n—e 1 n—oel n
3 lim + =0, (o8 lim (iﬂ) 2=
n-—e I n-—eo n
i O
(ii) 1
(iii) oo
(iv) n
(d IfY=f(x)=>b, then lim is :
x—> M §
MY = f(x) = b, (%7 lim (2=
x—>M
() b
(i) M
(iii) oo
(iv) b/ M
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(3)

(e) An example of discontinuous function is
fRifveay ot @b Tw=a (R

(i) rectangular hyperbolic function
O S Fele

(ii) quadratic function
e T

(iii) cubic function

fagre Fom
(iv) polynomial function
IZem T

() Differentiation of capital w.r.t. time is

TEATP T A SRR PICe IR AR

(i) gross capital
P T

(i) marginal capital
I8 e

(iij) investment

ffercae

(iv) time path
RA Y
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(4)

(g); The  direction;, of™ Y = f(x)" "can " be
measured by

Y = f(2)3 fe fiefa <9 7}

(iii) e
(iv) dx

(h) The tallest student in your class
represents

(R AR SBRSLT 8% Taee Pl

(i) global maximum

CoIeTRIg A T

(ii) relative maximum

At Sifw =

(iiij) absolute maximum
T oif® T

(iv) both global and absolute maximum

iR = et A S Tm YR
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(S)

Blgipel . d?y
For maximization of Y= f(x), —=
dx?

should be
d2
Y = f()3 Hifteer 1, a% 23 #fAR

(i] zero
R

(ii) negative
ERINES

(iii) positive
SCINE

(iv) double the value of %

Y < s LRl
dx

[£( dx is equal to
[ £ dx

() [, -foddx

i) [0 211 dx

(i) 2 [[ F(x) cx

() 2[; - fx) dx
( Turn Over )



(6)

2. Answer the following questions : 2x5=10
O ZPTRA s o

(a) State ordered and unordered pairs
with an example.

REAT (Fe) oF SrRERm (SEEe) I
el 6 o1, SHRACNE iR fore |

(b) Define quasi-convex.

Gae SR vigel o |

(c) State why for minimization of a function
the second-order condition should be
positive.

9 wore FHREOR I @ew [t RS
TR 29 A ?

loge® e?

d
d e,
(d) Find for y= 2 —

dy Befy log e?
¥y
i dx e

() Why do we need to add one constant
term while integrating a function?

aﬁwwwﬁmwﬁaﬁm
1 R A 2

20A/576 ( Continued )



(7)

3. Answer any four from the following
guestions : 5x4=20

worq ePPTYEd A CPICeTl BIfRer Ted o -

(a) Distinguish between implicit function
and explicit function. Map the following
function : 3+2=5

XY =a
fiRe Fo U YRS Feq TE 199
el 911 O FER0F AEDAS  SAFIof
4l

XY =a

(b) Define continuity of a function. State
why a function must be continuous for
it to be conformable for differentiation. 5

T qREAREel FeE & ogwme wew
S A B T [ qRRIRS 279 A,
fam 1

(c) If TR=PQ, where P and Q are price and
quantity respectively, then show that

aymn SR«
4~ AR- MR

I TR=PQ, IS P I T AT Q (I

sifare, (o8 (Sl @,
iy WHR 1
€d “AR- MR
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(8)

(d) Given the following average cost
function, find the marginal cost
function :

AC=100-100Q+(})Q?

where Q is the level of output produced. 5

e WAl ST IW FEEE ORI Ml W Tee
IGHIERIETIE

AC=100-100+(})Q?
T'© Q tzrE TeAfe FNag #f[{wief |

fe) Mention the condition under which the
technique of total differentiation is used.
Also explain the statement, “Integration
is the reverse process of differentiation.”

2+3=5
P SR RS AR A4 TR T
T FME T (R T ST
AfeEa 1”7 i 4 |

() Explain the necessity of integrating
the demand curve for finding out
consumer’s surplus.
aeeq Tge efEg A B TS ST
HATEAES! A F
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(9)

4. Answer any four from the following
questions : 10x4=40

oo 2Tl R I BiiRe e for

(@) For a function Y =logx, prove that
Y _1 Also find the limit of the

dx x
function : 6+4=10

: x?% -25

lim ————

x>0 x% + x-30

i dy _1
ol FoM Y =logx, oW ¥ @ L =—.

X

IS OO T limit o1 fefy 541 ¢
: Kar=05
IEFys) g W i A
x—=0 x2 4+ x-30
(b) If the production function
Q=40L +3L? -11°

where L is the employment of labour,
find the size of labour to give maximum
output. Also show that if demand curve
is linear, marginal revenue is half of
average revenue at output q. 5+5=10

If SeArE ¥ Q=40L+3L% -1L°,

L tare e FRRET ARMER | T Seeme
e AA R A deE T3, R w0
Aoirs CRed 1, T DI G AR A et
qed T, (OE A/ TR (R T S H
T’ TEAR AR (TR g

Turn Over
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( 10 )

(c) Given the demand function P = (10 - X)?
and the cost function C=55x-8x2.
Find the maximum profit. What would
be the effect of an imposition of a tax
of ¥ 9 per unit on price? 10

v ¥ P=(10-X)? wF W T
C=55x-8x2 2 diw s ey <1
M oS ¢ ANTT G*[{S ¢ 99 9 WH F4I
2, (908 TN 879 F dor 2{ 2

(d) Show that even after imposition of
lump sum tax and profit tax equilibrium
condition of market will remain the
same. Also show that imposition of sales
tax results lesser output. 6+4=10

(Sl @ lump sum T HF EES I
T 99 fPrerel SR AfSE! g AR |
FAMe (ST @ RGP 73 @R e F=aE
T 2T A |

() () If the demand function is
Q, =50-2P, +3P, +0-2Y, then find
the price elasticity and income
elasticity, where Y = 500 and B =2.
iy Bifew T

Q, =50-2R +3P, +0-2Y
w3 fefewrrre e o Efegemel e
41, TS Y = 500 ¥ B =2.
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(11)

(i) The marginal revenue function is

(i

(t7)

given by MR=50-4Q. Find the
point elasticity of demand when
Q=10. 5+5=10

AR SR T (AR MR =50-40Q.
viinR R Rfsmrme fda s, afem
Q =10.

The total cost of a firm is given by
C=5000-15g+5g>. Find the level

of output at which the slope of
the average cost is zero.

@3 T o T C=5000 - 15qg +5g>.
BFm «AfREeE A FEREE AT IR
CIRTCTe Ot %+ 279 7

Obtain consumer’s surplus of the

following demand function, given
the market price :

3
=_|60-|=|P
o=yeo~(3)
when price = 16. 3+7=10
Toq IR TR {1 Seicere Sge fefy
34 :
3
= - =|P
Q=,/60 (2J
@feqr P=16 4 |
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(12)

(g) If the marginal revenue function for

output x is given by MR = 5 +5,
(x+2)

find the total revenue function and

the demand function. 10

AWE  ORE FAw x  AWaANg Q|

MR=—2__ 45 % oW W oiRm e
(x+2)

forefa /4 1

(h) For the following production function
Q=alL? +bL? +cL +d, what restriction

a, b, c and d will follow to have a true
form of cubic production function?
Also find at what level of labour (L), the
total output will be maximum. 10

ave Teov T Q =al® +bL? +cL +dd

“a, b, c HF dA FEEIR Aq HYq W
PR R G 01 et e FoEe O
R 7 wece A sk wies faee P
e S SR, Fefa 41 |

* K K
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